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X 57\ *ﬁﬁrﬁﬁ ﬁi/ﬂ/ﬁ R4.4.13 R4.5.12 R4.6.10 R4.7.7 R4.8.4 R4.9.8 R4.10.13 R4.11.10 R4.12.8 R5.1.12 R5.2.16 R5.3.9
N R C 27.5 22.0 27.0 35.0 31.0 24.0 20.0 20.0 16.0 13.0 17.0 21.5
TR KR C 17.0 19.0 19.0 22.0 26.0 23.0 19.0 17.0 15.0 12.0 15.0 15.0
RS mg,/1 0.15 0.30 0.25 0.25 0.40 0.20 0.30 0.30 0.20 0.30 0.25 0.20
| — A fif,/ml =100 0 0 0 0 0 0 0 0 0 0 0 0
EABNII socd gsh | Bshaen] rshan ] gshaen] sshaeo] gishan ] sifshsen] sishao misnan] sifshisen] sishseo msnsn
WA K O DILEY) mg,| <0.0003
i KEEK OZFDILEW mg,| <0.00005
4 YL R OZDILED mg/1 <0.001
,é R OTDILEY mg,/1 <0.001
LE KL OZDILED mg,/1 <0.001
ANii7e MEE Y mg,/| <0.001
AR %5 mg 1 <0.004
ae [V T AL A4 mg,/1 <0.001 <0.001 <0.001 <0.001
dg %%g%;é” mg,/1 <10 2.4 3.3 35 L6
77 T DAY mg,/| =0.8 0.06
e [AUEXRPZOLEY mg,/1 =1.0 0.2 0.1 0.1 0.2
MIRIEERAES mg,/| =0.002 <0.0002
5 ;:; L4y 4% % mg,/1 =0.05 <0.005
JH Y A-1,2-YanzFLy R
1;%{5 s o iy mg/1 | =0.04 €0.004
Py BV mg /| =0.02 <0.002
/| A ES A2 mg,] =0.01 <0.0005
B e D/EEES S mg,/1 =0.01 <0.001
N mg,1 =0.01 <0.001
A mg,/| =0.6 <0.06 0.08 <0.06 <0.06
JunfEE mg,/1 =0.02 <0.002 <0.002 <0.002 <0.002
VLT I mg,/1 =0.06 <0.006 <0.006 <0.006 <0.006
LV unErmE mg,/1 =0.03 <0.003 <0.003 <0.003 <0.003
;?J‘ V7 aRyunpiy mg1 =0.1 <0.01 <0.01 <0.01 <0.01
“‘i CEd A mg,/1 =0.01 <0.001 <0.001 <0.001 <0.001
o N mg,1 =0.1 <0.01 <0.01 <0.01 <0.01
" N/ ouFER mg,/1 =0.03 <0.003 <0.003 <0.003 <0.003
7'nEy yau gy mg1 =0.03 <0.003 <0.003 <0.003 <0.003
THERVA mg,/1 =0.09 <0.009 <0.009 <0.009 <0.009
BVAT VT BN mg,/1 =0.08 <0.008 <0.008 <0.008 <0.008
g R OZD(LEY mg | =1.0 0.03
@ TI=g LG T DILEW | mg 1 =0.2 <0.02
L OZEDILE mg1 =0.3 <0.03
KR OEDIREY mg 1 =1.0 <0.02
FI[BE[ TN L R O DL & mg,/1 =200 14
& B OZEDILEY mg/1 =0.05 <0.005
k| [t mg,/1 =200 21 20 18.0 17 14 16 14 15 19 9 34 29
D | W [ mg,/| =300 66
x| [ZRFEIREY mg,/1 =500 120 140 140 140
= A A R s A mg,/1 =0.2 <0.02
Iz @ VA ALY mg,1 | =0.00001 <0.000001
BE| S 2= AF WAV R M RA— mg,/1 | =0.00001 <0.000001
|V IR A R R mg,/| <0.02 <0.002
T8 72 )-8 mg,/ | =0.005 <0.0005
AR mg/1 <3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 0.4 <0.3 <0.3 <0.3 <0.3
T PHIE 5.8=8.6 6.9 6.9 6.9 6.8 7.0 7.0 6.9 6.9 7.0 6.9 6.9 7.1
H |# ik el | WLEARL] WEARL] WEAL] WEARL] WEARL] REARL] WEARL] WERL] WEARL] WEARL] WERL] WEL
i [ E A Al BERL] BEAL| EEaL] BEeL] BEAL| EEaL| BEel| BEEASL] BEeL] BEll| BEEL|] BEeL
| E =5 <0.5 <0.5 <0.5 0.7 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
R 3 =2 0.4 <0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1




